

Florida Department of Transportation

09/07/2018

Vendor Ranking

Call Order: 002

E4T23 Contract:

Page 1 of 1

Letting: 04180907 September 07, 2018 10:30

District:

District 4

Counties: BROWARD

Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

AM

Project(s): 23391997201 (*)

Contract Desc: Maintenance of Traffic - Broward County

Ran	k Vendor	Bid Type Bid Statu	us Total Bid	Percent Of Low Bid
1	BOB'S BARRICADES, INC.	Responsive Winning bid	\$65,821.00	100.00%
2	ACME BARRICADES, L.C.	Responsive Non-Winning	g Bid \$107,300.00	163.02%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE:

09/25/18

BEGIN TIME:

10:30 AM

END DATE:

09/28/18

END TIME:

10:30 AM



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting:04180907September 07, 2018Call Order:002Contract:E4T23District:District 4Counties:BROWARDFed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 23391997201 (*)

Contract Descr: Maintenance of Traffic - Broward County

The work under this contract consists of providing all labor, materials, equipment and incidentals necessary to provide

Maintenance of Traffic (MOT) services along State Roadways in Broward County.

MAXIMUM LIMITING: Award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$100,000 and not the Contractor's bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Line No / Item ID Alternate Item Description		Quantity Units	(1) BOB'S BARRICADES, INC.		(2) ACME BARRICADES, L.C.			
	dicates item is bid as Lump Sum	oo	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	TRAFFIC CON	TROL (MH)					
0005 MOT M	E102100 AINTENANCE SERVICES	160.000 HR	25.00000	4,000.00	100.00000	16,000.00		
0010 TRAFF	0102 14 IC CONTROL OFFICER	100.000 HR	53.00000	5,300.00	60.00000	6,000.00		
0015 WORK	0102 60 ZONE SIGN	800.000 ED	0.10000	80.00	1.00000	800.00		
0020 TEMPO ANCHO	0102 71 15 DRARY BARRIER, F&I, DRED	500.000 LF	10.00000	5,000.00	35.00000	17,500.00		
0025 TEMPO STAND	0102 71 16 DRARY BARRIER, F&I, FREE JING	500.000 LF	10.00000	5,000.00	30.00000	15,000.00		
	0102 74 1 NELIZING DEVICE- TYPES I, UM, OR LCD	1,400.000 II, DI, ED	0.10000	140.00	1.00000	1,400.00		



Contract Grand Totals:

Florida Department of Transportation

09/07/2018

Tabulation of Bids

Page 2 of 3

Letting:	04180907	September 07,	2018 Cal	I Order: 002		Contract:	E4T23
Line No / I Item Desc		ite Quantity Units	(1) BOB'S BARI	RICADES, INC.	(2) ACME BAR	RICADES, L.C.	
() indicates	item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price Ext Amount
SEC	CTION: 0001	TRAFFIC CON	TROL (MH)				
	: 74 2 NG DEVICE, TYPE III.	10.000 , 6' ED	0.10000	1.00	5.00000	50.00	
0040 0102 ARROW BOA ARROW PAN	RD / ADVANCE WAR	100.000 NING ED	10.00000	1,000.00	50.00000	5,000.00	
0045 0102 PORTABLE C SIGN, TEMPC	HANGEABLE MESSA	60.000 AGE ED	20.00000	1,200.00	30.00000	1,800.00	
0050 E101 MOBILIZATIO RESPONSE)	72 N (EMERGENCY	35.000 EA	1,000.00000	35,000.00	150.00000	5,250.00	
0055 E102 TRAFFIC CON	274 9 NES	16,000.000 ED	0.10000	1,600.00	1.00000	16,000.00	
	2 97 1 NTED ATTENUATOR ()	30.000 ED	250.00000	7,500.00	750.00000	22,500.00	
0001 TRAF	FIC CONTROL (MH)	Section Totals:		\$65,821.00 [']		\$107,300.00 [']	

\$65,821.00

\$107,300.00



Florida Department of Transportation

09/07/2018

Tabulation of Bids

Page 3 of 3

Letting: 04180907

September 07, 2018

Call Order: 002

Contract:

E4T23

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.